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ENGLISH

Q1. Match the following.

a) Sudha Chandran 1) was stubborn

b) Beethoven i) Jaipur- Foot

c) The poet's brother 1ii) German Musician

d) Sudha Chandran Academy Iv) Montu

e) Young woman V) For beginners in dance

) Kalpana Chawla vi) Blind

Q2. Answer the following questions.

a) What did the crew want to accomplish in 2003 space mission?

b) How Sudha Chandran supported the upcoming dances?

c) Who realise that the guest was the great Beethoven himself? How?




Q3. Identify the type of Adverbs of the underlined words.

a) Rohan is doing his task carefully.

b) Put these spectacles _there.

c) 1 go to temple daily.

d) Garima was absent yesterday.

e) We are extremely excited for your birthday.

Q4. Encircle the verbs in the given story.

As the sun set over the ocean, a young girl named Maria walked along the beach. She felt the
warm sand between her toes and listened to the sound of the waves. A seagull flew overhead,
and Maria smiled. She brought a book and sat down to read. The breeze whispered through the
palm trees, and Maria closed her eyes, feeling peaceful.

Q5. Replace nouns with personal pronoun in the given sentences.

a) The student is working hard for the exam.
b) Emily is a talented girl.
c) Raj and I are going to the mall.

d) Simmi and Rimmi are doing the project together.
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MATHEMATICS

Q1. Which is better buy? 9 kg Sugar for X 1567 or 9 kg Sugar for ¥ 12357?

Q2. 5 dozen bananas were bought at the rate of ¥ 5.25 each. Half a dozen bananas were

found rotten. The remaining were sold at the rate of ¥ 4 each. Find loss or profit.




Q3. Complete the table.

CP SP OVERHEAD CHARGES |PROFIT OR LOSS

X 6789 X 200

T 14887 None

Q4. Find the LCM of 25, 30, 35, 40 by prime factorisation method

Q5. Is 7 a factor of 539487

Q6. Find the smallest value which when divided by 12 leaves a remainder of 10 when

divided by 24 leaves a remainder of 22 and when divided by 32 leaves a remainder of 30.

Q7. Find the HCF by long division method
a) 480 and 720
b) 275, 525 and 830

Q8. The product of the L.C.M. and H.C.F. of two numbers is 8000. If one of the numbers is
200, find the other number.

Q1. Give two examples of the following.

a. Cause of deforestation -

b. Seeds dispersed by water -
C

d

. Animal with good vision -
. Arboreal animal -




Q2. Define the following terms.

a. Germination -

b. Hibernation -

Q3. Match the following.

Column A

Column B

Growing plant in large
number

Dispersed by wind

Maple

Omnivores

Bear

Afforestation

Lungs of earth

Scavengers

Vulture

Forest

Q4. Identify the pictures and write three lines on it.

Q5. Write the missing letters.

a)F _RE__ T
b)H_ Bl __AT
o)A 1 __ALS




Q6. Read the passage carefully and answer the following question given below.

In the 1970s, some villages in Uttarakhand, India, faced a big problem. Trees were being cut
down, causing landslides and floods. The villagers, mostly women, came together to save their
trees. They hugged the trees and wouldn't let the loggers cut them down. This movement was
called the Chipko Movement. The women sang songs and shouted slogans, saying "Chipko,
Chipko!" which means "Hug, Hug!" in Hindi. The government finally listened and stopped
cutting down trees. The Chipko Movement showed that even ordinary people can make a big
difference.

1. What was the problem faced by the villagers in Uttarakhand?

2. What did the villagers do to save their trees?

3. Who mainly led the Chipko Movement?

Q7. Explain the structure of seed with the help of diagram.

Q8. What do you understand by the term seed dispersal?

Q9. Draw a well labelled diagram of ¢ Process of germination’.




COMPUTER

Q. Answer the following questions in one word.

QUESTION ANSWER
. What option lets you change the size of the
paper in Word?

. What do you adjust to set margins in a
Word document?

. What tool helps you change the orientation
of a page?

. What feature is used to add space at the
top or bottom of a page?

. What do you call the setting that controls
how text aligns on the page?

. What tool lets you insert a table into a
Word document?

. What term describes the horizontal
sections in a table?

. What term describes the vertical sections
in a table?

9. What do you call a single box in a table?

10.What feature helps you change the borders
of a table?




